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I 7» mwn: further cases of misreported death of husband
a  case #1: man and his (only) son go abroad
i report #1: man died first (thus removing possibility of np’r) then son died — and she married “out”
1 reality #1: reported back that first the son died, then the husband, creating 12 np
2 ruling: she must leave new and old husband and the children from both "Inr” "wr1” are 0NN
(a) meaning: WK = before NYINW; PINR = after NYINY
(b) Attribution: must be " who reckons that 8% 727n generate mAtn
(c) Related dispute: nn22 PVITP NOAN
(i) Clearly negating: 23, following v. 2 — onn R
1.  therefore: she has no pwyTp, but PRIW7 is meaningful for our case and requires a V3
(if) Unclear: YR1mw - does ’nn XY mean “may not” or “cannot”? >require v (paon)
(iii) Rulingl: follows YR1nw —if D1’ is HR1w’, new husband may give her a V3 & she may marry the o’
(iv) Ruling 2(’x27 77): follows 11
1. challenge (721777 73): it’s an explicit mwn — pwIPP given w/delay n¥'9n InNRS are invalid
2. response (81 77): indeed, that’s the reason
3. comment (579): otherwise, we would have assigned that niwn to y"
a.  Challenge: but y™ maintains 92597 mpn pR (D PwV1p should be valid in any case)
b.  Response: Y91 "7 112 RN “7 — »™ agrees that »"525w7 mpn DIR PR — side reason given
for his ruling in 0™
c.  Contra: »"ar holds that 81177 ,27 PR 7 ,R»N 79 37 ,0" ”aRy v hold »"925w7 mapn DR
i.  Case I: (k00 ") — selling futures on fruit tree
ii.  Case 2: (27) — future, retroactive sale is valid
iii. Case 3: ('R 1) —w9n on fruit that was brought every v"y — even if it didn’t yet arrive
iv. Case 3b: (®”n "1) — approved of *Ry "¥’s ruling, (v. 3), even though he was made to read
P11 Mp in a dream- thought the reference was v. 4 (bad), but it was v. 5 (good)
v. Case 4: ("21) — ability to buy an 111nw% n”y 12y
vi. Case 5: (n™) — pw1Tp based on future availability — valid
vii. Case 6: ("ar7) — n"In nw1an based on future ripening — valid
viii. Case 7: (y"™1) — wife’s 9T to prevent husband from her future earnings is a valid 1m
ii  report #2: son died first, then father (generating np’r) and she had ma»
1 reality #2: reported back that first the husband died, destroying np’
2 ruling: she must leave both the 01> and her husband and the children from both “INR™ "NWRY” are DTN
iii observation: 11y is believed to generate ma»
1 proof: since in our case the child is deemed a 7tn->there was only 1 witness (then 2 came and refuted)
2 wversion: question asked about 1 witness to permit a potential »w% nna1’ — same proof
3 alternatively: perhaps it is 1M »In — but the latter two are nnrn »1y (automatic trumping of 1% 2)
4 contra: (WX 11) — 1 witness is not believed (statement implying that he is is credited to y™; since qrnn v’
IRY 72710, 8”10 she would be careful — 5"np that 1 witness is never enough);
(a) Reason: she may hate (or love) na> and be likely to “lightly” believe testimony
b  case #2: man went abroad
i report #1: man died, then she married another
1 reality: reported he was alive at time of her remarriage, then he died
2 ruling: she must leave her new husband and children from "hwx1” are 710 but not from "NInR”
ii ~ report #2: man died, then she accepted pwiTp from another (no nx’a)
1 reality: he shows up
2 ruling: she may return to her first husband
(a) addendum: even if the 2" husband gives her a 03, she’s n1112% NW?
(b) support: w1 on v. 1 — must be AWRN MW to be a valid v)
(i) Observation: he could have built a more elegant nw17 involving van n»
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